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Answer questions 1-5 below the following article, based on what is written in the

text. For the words and phrases marked with an asterisk (*), explanatory notes are

provided after the text. (BZ =3 35%)

(EEHEOBIRTHR L T £EA)
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Adapted from:
Mark Solms. The Hidden Spring: A Journey to the Source of Consciousness. Profile

Books Ltd., 2022.

Notes:

tolerable: able to be endured
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hierarchy: a system in which members of an organization or society are ranked

according to relative status or authority

bully: a person who seeks to harm or scare those whom they perceive as weak

1. What is “rough-and-tumble play” in paragraph 1? Explain it in English in 20-30

words.

2. Why is PLAY important for children? Explain it in English in 50-70 words,

referring to the three functions the author mentioned.

3. What do the underlined parts (1) through (3) mean? Select the most appropriate

answer A, B, C or D.

(1) “If they are deprived of their quota on one day”

A.

B
C.
D

If they are not given enough lesson time on one day
If they are not allowed to enjoy play enough on one day
If they are criticized because they play too much on one day

If they are not given enough outside area to play on one day

(2) “calling the shots”

A.

continuing play

. controlling

B
C.
D

giving up

. winning

(3) “we ignore these drives at our own risk”

A.

B
C.
D

If we overcome our needs, we’ll be in danger.
If we focus on other animals’ needs, we’ll be in danger.
If we pay no attention to our desires as mammals, we’ll be in danger.

If we disregard the fact that we can control our desires, we’ll be in danger.
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4. Choose an appropriate word to fill in the blanks ( a ) and ( b ) in the text.

(a)

A. anger

B. embarrassment
C. fun

D. pride

A. empathy

B. evolution

C. sophistication
D. tactics

5. According to the information in the article, are the following statements true (T),

false (F) or not in the text (N)?

The ‘60:40 rule’ refers to the tolerable power balance when playing.

All social groups, except for children’s temporary play groups, are hierarchical.
People of higher status are often unaware of the benefits they gain from the
hierarchy.

Social rules limit our individual behaviour and create the need for complex
communication.

Humans take on various social roles and learn what they can and can’t do from

their pretend play.
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CETEHEOBIR TR L TRV £HA)

[£#2] Patrick Roberts. “The Real Urban Jungle: How Ancient Societies Reimagined What
Cities Could Be.” The Guardian, 22 June, 2021.
<https://www.theguardian.com/news/2021/jun/22/the-real-urban-jungle-how-ancient-

societies-reimagined-what-cities-could-be>  (—#Fex %)

[7£] exploration: ik, EEEICZ ORITENT THANS 2L
obsession: #&, Y oM T\5 X
overgrown: ¥ RAHVEEK - 7-
Classic Maya: < " BH D+ #2131 (250-900 AD) D Z ¥, Z #LVART 3 %6 & 223 (Preclassic
period), % #2411 1% & #23H (Postelassic period) £ 78X M5,
intensive agriculture: £/ R E(—EDOHIFEBEANL L) ZLDIEM T EET H7-012,
ZLOBEREFNERT T 5RERE DT %)
deforestation: FRMIXIK
archaeological: % &% 0, #&3Fayt
flourish: %%+ %
pre-colonial: WRIEAL XN LD (ZDOXRKTIL, A4 VITRERILINSE D)
resilient: B8/ 128 D
dispersed: 77 #L 7=
water lily: 24 L~
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Write your answer to the following question, providing concrete examples and

in approximately 150-200

reasons. You must write your answer in English and
(BL %3 25%)

words.

In Japan, the government has encouraged young people to vote in elections. However,

many young people do not vote. What are the reasons for this?
(A k)
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